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Mumbers to 100,000
Write each number in stenderd form.
Examp/e
72,460

seventy-two thousand, four hundred sixty

1. seventy thousand, eight hundred "twenty—tbree
2. sixty-two thousand, four hundred eighteen
3. ninety-seven thousand, four hundred
R ;
4. thirty thousand, eleven

. Write ecach number in word form.

— .E)fdm,éle;' _
. se548 . MTHSiH

Lessan 1 Numbers to 100,000




8. A number beginning with the greatest digit:

R L Anumberwztth the tens p[c;tce and 5 ih.'_tH'e" ones place:

' Chaptart Ploce Va

Count on and &l in the blonks.

8. 81,000 82,000 83,000

9. 30,000 40,600 50,000

16, 10,000 15,000 20,000

Write the missing werds and digits for each number.

Example
’ hunidres twelve 251 _*

thousand, five

1. sixty-one thousand, | 1,001

i2. twenty-four _ - , three hundred ten 243___ 0

13. forty-five thousand, hundred six 4. 206

14. thirty-six thousand, one hundred L S 36_,___W89

Make each 5-digit number using all the cards. @@ﬁ@% E@@@Eﬁ@fﬁ@mb@g wiith "0

18- Aneven numberi -

A numbez’ Wlth zero m the hLmd“i‘ds PlGCe I_

e . L

20,7 Anumber ending with 7~

o of Whole Nubers
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Complete
Yeen u"lﬂjp XA

th 71,486,

Example .
the digit 7 is in the . YHEEnG

place.

1. the digit 1 is in the

2. the digit 4 is in the

3. the digit 8 is in the

£, the digit 6 is in the

Find the value of each digit.

In 65,239,

place.

place.

T et

place.

R AT

place.

— Example

the digit 6 stands for

80000

2t
&

5. the digit 5 stands for

.'@T_E g g thedlgtt 2 st'q'ﬁd's...f.or :

7. the digit 3 stands for

o

it

L 8,35 the :d.igii.:'gstahds"fdr:

|
|
|
[

R T

" Lessonf.1: Numbers to 100,000



Write each number using the clues.

D

-

The value of the digit 1 is 100.
The value of the digit 5is 50.
The value of the dlgl"[ 3is 3

| -The vczlue of ’che dzgzt 4 is 40 OOO
| '.The Vcalue 01 the dlglt 2 is’ 2 OOO

v

The number is

e

The d{glt is in, the hundreds p|oce

The dlglt 2 isin the ten thousonds place. o
: The dlg:t 9 is in the tens p|c1ce
The dlg;t O isin, the ones p{c]ce

"-The dlgit 5 is in the ‘thousonds pioce

(‘ Example

;

The number is

S ":i Wﬁﬂﬁ%@ %E‘m@ massmg @@mh@m -m@ﬁ W@E‘dsn |

In36,172,
2

the dsgxt 2 stcznds for ___._____ ‘onés.

;’EG;&%&&?’&@

the dlglt 6 isin the lace

the dlgzt in the ten thougands place is
70

ihe vo]ue of the dlgﬁc 7 is

ES

" the dzgxt S M sinthe hundreds place and its value is

ot

© Chaptar1 Place Volus of Whols Numbers
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13. the digit-in the ten thousands place is

Wirite the missing numbers and words.

In 52,814,

T the digit 4 stands fer ones.

i2. the digit 1 is in the place.

S

E
o

the value of the digit 8 is

]
5

Eid
bt
=

A

the digit is in the thousands place and its value is

Complete.

—— Example

38,295 = im. ten thousands + 8 thousands

4+ 2hundreds + 9tens + D5ones

16, 72,439 = 7ten thousands  + _____ thoUSG”C{S'. |

Lt h“”dreds +?J'fenSqu Oones -

97, 99088 = 9tenthousands + 9 thousands.

+ hundreds + 8 tens + 8 ones.

' LessontT . Nurbers to 100,000

b e e o i Y £ Ty 1= o T e



Complete the expanded form.

Solve.

22. b5 + 60 + 80,000 =

Example
LOU0
51,476 = 50000 + _ZZ7 4+ 400 + 70 + 6
8. 36,427 = 30,000 + + 400 + 20 + 7
19. 17,503 = 10,000 + 7,000 + 3
20. 45080 = 40000 + + 80
21. 20,000 + 6,000 + 20 + 5 =

23.  Color the puzzle pieces that show the answers in Exercises 18 to 22.

s et

:_' thlt is f._hi_é.'p'_i'cturé? .

. Chaptart - Place Value of Whole Numbers -




Womer . Detes
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Wy w>oa‘<m@o@lh© PR ;,
— Example

15 408 @ 12,508

> means greater than. OO ) o

<7 means less than.

1 63,809 O 36,908 2. 86415 O 86,591

£y

5. 45638 O 8.594 A 60960 O 69,999

Compare the eight mumbers in Exercises 1 to 4.

_' ©.2009 #ageshall Cavendish inlernationa tsingapore) Private timiled

5. Which number is the greatest?

5 Which number is the feast?

@_}

@r@%@r %Eﬂ@S@ n@mb@rsn

"_ ' Begm Wlth the Eecst

'.Begtn thh the greotest

5‘76_,%332-_-' 74, 2\)6 81,152

s1152 _'?&352“ 74236

 Lesson1.2 Cdr.h;ﬁdri'ng Nurmbers to .100’000




Crder these numbers.

7 Begin with the least:

97,136° 79631 ;96,137

B. Begin with the greatest:

-80,000. 9,469 81,074

Write the missing numbers.

—— Example | - | " .
82 BAS
1,000 more than 82,586 is 83556

B2 040,000 fess than 57,312,

9. 10,000 more than 56,821 is

oAl L 550,000 less than 79,895,

M 2,000 fess than 18,563 s

| ;ﬁg BN _; ' 35-3,0'.00 moré than 48,200.
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il im che blanks.

23,485 = 2 ten thousands +

[
g
[rd
i

thousands +

hundyeds + 8 tens -+ 5 ones

f

72,586

5 hundreds +

20,000 + 4,000 + 700 + 8 = 2

00,000 + 800 + 50 =

£

24,329 =

37,486 = 30,000 +

7

tens +

+ 4

ten thousands + 2 thousands +

_ .. 0ones

ones

+‘

+ 4,000 +

Wirite each number in expanded form by completing the
number sentence.

42,635 = 40,000 +

__ 5 6}5’66 o

+ @

_+6

99854 =

T Ex‘;n‘u?récﬁce@&
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Lesson 1.2 Comparing Rumbers to 100,000 .
Write > or < in sach Q -

. 78,300 Q 78,003 3. 39807 Q 30,870
3. 87930 Q 80730 A, 98730 O 98,073

Compure these numbers.

~

26,653 &0,002 91,111 80,888

5. Write the least number.

6. Write the greatest number,

3 7. Write the greatest odd number.

8. Write the Leost even number.

Order these numbers.

9. Bégin with the least: . PSR SIS R |

ﬁg@, Begm 'W]t.h 'th'e'g'_re.'dfégt;" -

o Ex’&d ?mciiéelé&. 2
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6. 20,306

for Chepters | and 2

Concepts and Skalls

Write each number in stondard form. (Lesson 1.1)

fa forty-eight thousand, six
Zx one hundred thousand

3. sixty-nine thousand, two. hundred eleven

Write each number in word form. (lesson 1.7)

4. 53900

5. 16,658

Fill in the blank to write the number in exponded form. (Lesson 1.1)
7. 13901 =10000+ - +900+1
- Sillinthe blanks. (leson 12)

@ 100 h{ﬁdre than 26;542 IS_ |

. is100 less than 79,023,




Circle the number that is greater, (Lesson 1.2)
10. 12,630 or 6,238 M. 45,200 or 45,496

2. 02,029 or 69522 13. 90,236 or 87,415

Cirele the number that is less. (Lesson 1.2):

4. 6,563 or 48,200 15. 67,186 or 67,254

6. 74,258 or 71,852 17- 96,125 or 69,521

Write the set of numbers in order from least to greatest. (Lesson 1.2)

W, 8654 56207 68543 56710

Continue or complete each number patéern. (Lesson 1.2)

9. 11,500 11,000 10,500

20. 63,800 64,100 . 64,400

B 278520 29853 . 33855 35856

- Find each sum or difference. Then use rounding fo check that
. your enswers are reasonable. (Lesson 2.1)




Dapties

iply. Then estimeate to check thot your answers are regsenable. :
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Koames Date:

Multiply. Ther estimote to check that your answers are reasonable.

5. Q 8 Té. 5 4

Ext f'_&' Fr&cﬁicé AA

L R ey e

Eoe

27
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Hemey

7 A digital camera costs $699. A retailer sells 38 cameras.
How much does he collect altogether?

o

2 A bakery sells 369 banana muffins each day. It sells 4 times d’s'ﬁicﬁny
blueberry muffins as banana muffins each day. How many biueberry muffins

are sold every day?."

o Extra Practiee 47 35
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3.

4,

" 36 . Chhoz"p'fér& ; Lés;éﬁ 35 .

A factory produces 1,899 toy cars each day. How many toy cars does it
produce in 7 days?

Ms! Marquez divides 3,438 beads equally among 6 groups of students
for a crafts project. How many beads does each group have?

a
S
g
2
o
3
g
I
8
£
&
&
&
=l
£
=3
=3
&
g
£
3
o
%
z
&
=
2
2
2
4
)
=
-
-
[=
2
a
£
g
E
5
bl
=
4
H
&
w
%
=
g
2
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g
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- . . . . B S el
5, 2,255 stamps are divided ec*wclf‘y among & post offices. ., e !
. How many stamps does sach post office receive?

. How many stamps are left over?

K ' /

6. Each pair of in-fine skates costs $56. :
a. How much does a store have to pay for 39 pairs of in-line skutes7

S &3 | A store se![s edch pair of in- Jine skates for $72 What is the profit that
L ’Ehe S’Eore makes on the 30 pairs of in-line skates?

© 2009 Marshall Cavendish fnl'_e_matinn_a_f (Singaﬁare)_ P:fv%l_tg_ii_ﬁﬁ_te_d. Copying is pe_f_m@tied; see page ii.
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Wemes Date:

7. Hannah gave $68 to charity. Hannah's mother gave 25 times as much as
Hannah. How much did they give altogether?

8. A fruit seller has 2,400 orandes. He throws away 15 rotten oranges and packs
the remainder equally into 9 boxes. How many oranges are in each box?

U 38 . .'.Chﬁéz‘ééFS Les.séh_S;s_. S




Date:
g. There are 4 times as many children as adults at @ theater, | |

There are 475 adults. How many people are at the theater altogether?

W

S

o E -
i@. A nature club has 37 members. Each member receives 15 fish to put
into an aguarium. If 20 of the total number of fish are put into a fishbow!
instead, how many fish are put into the aquarium?-

permillad; see page fi

| © 2609 marshalt Cavandish international (Singapare} Private Limited, Copying is
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1%, Mr. loseph’s salary is $3,650. He spends $1,610 on rent. He divides
the rest of his salary into 3 parts for his other monthly expenses.
How much money is in each part?

2.  Dioria mixes 1,543 milliliters éf orange concentrate with 932 milliliters
of water to make orange juice. She then pours the mixture equaﬂy into @
glasses. How much orange juice is in each g!csss?

i é@ N . .Chépﬁer:’? N Lesg_'o;.‘l 35
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- Some places of paper

bstructions
- Player 1 throws alt three dice secretly without Player 2 sesing them.
- Player 1 then secretly writes the nurnbers on the dice down an a plece of
paper and multiplies them all tagether.
~ Player 1 then tells their answer to Player 2.

1

Player 2 has to work cut the numbers on the dice from Player 1's answer.
When Playar 2 thinks they have worked out the correct numbers on the dice
the dice ralis are shown to Player 2,
How to score:
o If Player 2 got the corrsct numbers on the 3 dice, then they score 10
points.

o if Player Z got the wiong numbers on the dice hut the numbers multiply
together to make the correct product, then Player 2 scotes 5 points.
o If Player 2 made a misizke with their multipiication, they score G points,
o if Player 1 made a mistake with thelr multiplication, Player 2 gefs 10
paints {unless Plaver 2 also made a mistake).
- Now Blayer 2 rolls the 3 dice secretly and multiplies all the numbers
together, and it s Player 1s turn to guess.
- The winser is the first plaver to reach 100 points.

Ex rnrie 1 Playér T mﬁs az '4 arda 5, and then muttiplies therm ail togsther to
_. maks an answer of 40. P!ayer 1 theén tells their answer 1o Player 2 who guasses’
- G Pn\'ﬂr 1 rcHed 3 2 4 a’zd as. Piayer 2 is correct and scores 10 pomts‘ _ '

'"a-mpie'z P%éyer i 'rcl!'s é 2 3 én-d 4, aﬁd'th'én 'm'u['tip lies thém togéther to maka
ansnswer of 24 Player 2 guessés that Player 1 rolled 31,4 and a 6. Player? has
Lhe wrong numbers, bu: the r:ghg product so scores 5 pomts ' :

. Varzatfcns

e Playlng With 2 d[ce makes ths game much easiar.
S Playing this garmne wi ith 4 dice riakes this game harder. o
- Try playing with 8 or 10 sided dice makes the game harder and brmb‘s in
different fiath facts to use.

'L Youcan invent your own scoring system to go with the game,

__"Ep://wﬁw.math-éalai*nan'd'ers.c.omjii’hagés/'cobi—'mat'hs—games'-Qet—fhe—'productwdice-wgé.méél.gif" : o _ Page 1 of 1




